
(3 Hours) 

N.B: (1) Question No.1 is Compulsory. 

(2) Attempt any three questions from remaining. 

(3) Figures to the right indicate full marks. 

(4)Assume Suitable data ifrequired. 

1. (a) Obtain Transmission parametcrs in terms of 'Z' Parameter. 

(b) Ifil=2 A, Find V. 
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(20) 

(c) Obtain s-domain (Laplace transform) equivalent circuit diagram of an inductor and 

capacitor with initial conditions. 
(d) Check whether the polynomial is Hurwitz or not by continued 1'i'action method. 

F(s) =S4 +S3 +4s2 +2s+3 

(e)List the types of damping in a series R-L-C circuit and mention the condition fix 

each damping. 

2. (a) Obtain hybrid parameter of the interconnected 2-port network. 
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(b) Find current through 15[2 resistor. 
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(c)Tcst whether F(S) 0' 2S4+7S31-11S2 1-12S:t'l js a positive real function. (6) 
S4+5S1+9S2+11S+6 

3. (a) Obtain Thevenin's equivalent Circuit:- :3:r-x.-
511- 4 D_ ~~.----

j- ~ 
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Hence find current Flowing through 10 iJ Load. 

(b)For the network shown in figure, find the vol!age across the capacitor. (10) 

4. (a)Find Ic and Vc for t>O 
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B 
(b) Realise the following function in Foster- I and Foster-II form. (10) 

Z(s) = (S+ 1)(S+3) 

(S+2)(S+4) 
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5. (a) Find driving point impedance VI for the network shown in figure. (10) 
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C> (0 .----,I (b) Find i l (t),h(t) and i3(t) at t=O' 
·-----0 
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6. (a)Find the characteristic impedance, cut off frequency and pass band for the network 
shown: (6) 
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(b)For given circuit, the switch is closed at t=O.Find VcCt) iix t>O 
G _----I 

looJ1.-. 

511 If 

(c) The network shown in Figure reaches a steady state with switch at position 1. At t=O, the 

switch is changed from the position 1 to the position 2, Find the value of 1, Qi , d2
j at 

~ dt ~ 
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